Sudoku 2,940 easy

e  The Guardian, Sunday 12 October 2014
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Fill the grid so that every row, every column and every 3x3 box contains the numbers 1 to 9.



https://www.facebook.com/sharer/sharer.php?u=http://www.theguardian.com/lifeandstyle/2014/oct/13/sudoku-2940-easy
http://www.guardian.co.uk/theguardian

Sudoku 2,941 medium

e  The Guardian, Monday 13 October 2014
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Fill the grid so that every row, every column and every 3x3 box contains the numbers 1 to 9.



https://www.facebook.com/sharer/sharer.php?u=http://www.theguardian.com/lifeandstyle/2014/oct/14/sudoku-2941-medium
http://www.guardian.co.uk/theguardian

